1 2 3 | L 5 6 7 8
2 cable entries 1)
A 06 04 A
—t
| E Hexagonal head screw driver ]
! P/N 6103 600 0021
! for hexagonal head screw
= max. torque=0,5Nm
- Internal grounding block
B O (optional) B
I
r
1] = nip] [
| 16,8 33,3 B
39,5
C _ [ | C
_ ring ~ T
. fe
A w | ql w | .
Sl 2 ~ 3 Dim. B
' ' Identification on @ For strain relief an additional InduCom cable clamp or a crimp flange and
M3 440 UNC locking screw ferrule combination depending on the cable is necessary
A - Content InduCom hood Spare parts (M0Q100)
D . ' Pos. Quantity |Description Part Number Quantity |p
01 1 metal hood
¥=3 X=0 X=1 X=7 02 1 metal cover
M3 x 16,8 L-40 UNC x 16,8 M3 x 13,6 L-40 UNC x 17,6 03 1 blank piece (not assembled) 6103 000 0042 1
- 04 2 locking screw (assembled): [ |
either knurled thumb screws 4-40 UNC (for 0116) 0967 002 9018 1
or hexagonal M3 with captive washer (for 1116) 0967 002 9019 1
or hexagonal 4-40 UNC with captive washer (for 2116) 0967 002 9020 1
e [6103 001 X116 YYY or knurled thumb screws M3 (for 3116) 0967 002 9017 1 E
6103 001 0116 L-40 UNC Knurled thumb screw Without ring 05 1 Q;EEES:EQ Elc(:celrl (not assembled) for version with internal 0963 002 0007 1
6103 001 1116 M3 Hexagonal screw with captive washer 1 With internal arounding block : : . — .
5103 001 216 | 4-40 UNC |Hexagonal screw with capfive washer 3 grounding 06 A fn"avxerf;‘r‘crlﬁz’_gqgﬁmw'fh philips head (not losable in cover) 4963 99 999 |
| 6103 001 3116 M3 Knurled thumb screw With ring M omeneoe o | St |Free s tor — ||
6103 001 0116 010 | &-40 UNC Knurled thumb screw Without ring 6’@% Original Size DIN A3 | 1:1 Sub.
6103 001 1116 010 M3 Hexagonal screw with captive washer 1 Without internal grounding g | Al rights reserved Created by Inspected by Standardisation Date S‘fafe
6103 001 2116 010 | 4-40 UNC |Hexagonal screw with captive washer 3 block S| e p—— ZENGD LUK HOFFHANN 2018-03-08 Final Release
. ' - Title . Doc-Key / ECM-Nr.
¢ | 6103 001 3116 010 M3 Knurled thumb screw With ring InduCom size ? (15_p0[e) BaSY access hood assemb[y mrsug/uGns | p
Dim. B s ; |dentification for int [ ding block HARTING Electronics GmbH o — — -
Part Number screw size crew Type locking screw nrernat grounding Mot 0-32339 Espelkamp 1B 6103001X116 B /1
1 | 2 | 3 | A 5 | 6 | 7 | 8

A3



